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Windows
— Windows 3.1/ DOS
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« MOV AX, BX
- ADD AX, CX
« MOV CX, DX

YA



4ok 9 &5 (Sl 31 Jbo

Address

(a) Instruction format

Magnitude

(b) Integer format

Program Counter (PC) = Address of instruction
Instruction Register (IR) = Instruction being executed
Accumulator (AC) = Temporary storage

(c) Internal CPU registers

0001 = Load AC from Memory
0010 = Store AC to Memory
0101 = Add to AC from Memory

(d) Partial list of opcodes

Slgws B =

slael LJG

Yq



Adding Two Numbers (3+2)

Assumptions:
1 - Load (1 940) >
Load from address 940

5 -> Add
2 - Store

Memory

CPU Registers

300[1 9 4 0 3 0 0|PC
301|S 94 1 | ]AC
302|2 9 4 1] 1 9 4 0]IR

94010 0 0 3|
941(0 0 0 2|

Step 1

Memory

300(1 9 4 0
30115941
302(2 941

94010 0 0 3|
941(0 0 0 2

Step 3

Memory

300(1 9 4 0
30115941
302(2 9 4 1

94010 0 0 3|
941(0 0 0 2

Step 5

CPU Registers
3 0 1] PC

0 0 0 3]AC
IR

CPU Registers
3 0 2|PC

0 0 0 5]AC
IR

CPU Registers

CPU Registers
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E1l: [find remainder] Divide m by n and let r be
the reminder.(Clearly, 0 <=r <=n)

E2: [is it zero?] if r =0, the algorithm
terminates, n is the answer

E3: [Interchange] Setm € n, n €< rand go
back to step E1



flowchart

<>



GW-Basic Program

10 r=m mod n
20 if r =0 then print n : exit
30 m=n:n=r:goto 10
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